......... St e /{J!J -—L,r_’;-"lﬁz‘:JJ ;,,@i’i'/‘j .‘j?' ,'-‘_rg
......................... At gt B ¢ 9016-18 to 2018-20 Qr".‘."),

(tg-'); p )}

12/

PAFPER CODE 3477

ir .Lr\_, U 24 e s \iiv"':,‘;:z«‘ v 1020

-

g ~u
(e S8 (FHPN7

e 152

r ~roe VL - i~ R ek : : - e TR SR B W]
uf&f,ni.fp}b,uh-’d&‘f_ 7 i e ._,-.-/ssf..-’i cr,'d.{/.f. Jirsg {,_‘15’(,_5*.?.'_ ._,f-:;f.vé;.: O »sC,B.A \:A,.-!.K;Y.rj'o.;f.. Ul ks

- r (2

-

(F S, &

L : T ; S f I I
Pt 24 .;;'Jf;,-i...."f/{fg_j:’::d.a Q_‘Erélif-&}: PEAds T LT LS S s AN 4P Ll e L LETr A

=1 o o b’b_}iéf.'._ L _uﬁﬂ;; (j"..._r”.b Salsars FrUELE .:'-Jy"d,;fk

oSGl £ s PAPER CODE

Note:- You have four choices for each cbjective type question as A, B, C and D. The choice which you think 1s correct;
£} that circle in front of that guestion number. Use marker or pen to fill the circles. Cutting or filling two or more circles

will result in zero mark in that question. Write PAPER CODE,

sides of the Answer Sheet and fili bubbles accordingly, otherwise the student will be responsibie for the situation.

Use of ink remover or white correcting fluid is not atlowed

which is printed on this question paper, on the both

(D} {C) (B) {A) QUESTIONS Q-1
Sy Fges s Hiief | etWuntib e NN VT
Boiling Evaporation Conduction Thermionic | The process by which electrons are emitted
emission by a hot metal surface is known as
sty A Lty Lol e KSR S | 2
Any data Raw data Processed data| Large data [In computer terminotogy informaticn means
il P Lo | ad&LTE L et/ dNd LS | 3
Nuclear fission | Nuclear &..i | Burningof < Cherical &-+j | Release of energy by the Sun is due to
Fusion gases reaction
iﬁ £ 55t V0 J“}g/ A -;3:€ u':{ .); Mﬁd/ﬂafﬁfi@j!a LS| 4
Wavelength Amplitude Frequency Speed Which of the following characteristics ofa
wave-is independent of the others.
S JF KK S « FSHSGxs| 5
Chemical Thermal Mechanical Electrical | Which form of energy is sound?
4.1-95:.’1;‘)' ;PG:‘: & {%Juﬁu {m*@f;’ ?‘c.tﬁ{p/:'mﬁﬁldag/'z_}fﬁ}l 6
The object The image | The speed of The focal | The index of refraction depends on
distance distance light length
133 242 2.21 1.66 e SEREAR LA | T
Refractive index of Cubic Zirconia is
v | @ . PR
Q ’ i Capacitance is defined as
iA (o sy o —e b Ly {u’ﬂd}; 9
Farad Ohm Vaolt Ampere The unit of resistance is
o - . i e Pl dused | 10
I R Mathematical form of Ohm's law is
vl Ny=10N, | Ny-= Ny =101, 310Uk £ ot S| 1
10 10 The turn ratios of a transformer is 10. It means
X=4.B | x=A+8 XA B X=A+B |Equation of AND operation isc =his gtk | 12
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Part 1 J R T -
Answer briefly any Five parts from the followings:- 5x2=10 _Jf;f...»l.li/"z.l?i glgdfc,uﬁj; L -2
How damping progressively reduces the magnitude of oscillation? s "L G, iEP: g "i.:.au g _C. (i)

e hin S WPt J© (i)
‘__ s o i ol L S A (i)

Write any two important features of simpie harmonic motion.
Find the time period of a simple pendulum of 1.0 m long at

a location where g = 10 ms”~ g=10ms E,F.

What do you mean by the term intensity of sound? Sl ____Vn,f__, T.;”"’..: "i O (iv)
Define pitch of sound. How does it vary with frequency? P gr J’)v.afLu_d 5] y‘/g_,)’v = J'/J &4 $ (v}
Write any two uses of ultrasound in medicine. < 5._,1'L-ffu¢.di uv!/lu‘ b (Vi)
What is meant by the term nearsightedness? How can this defect be corrected? -2 Jbb ;srv)’ufu" Vil Ve u/& [y ; (vii)
What is meant by Critical angle? —e ol L-'c. J”IJ@ {wiii)

Answer briefly any Five parts from the followings:- 5x2=10 S22 AL étr;.‘j;c..gﬂuhb» 3
& f oy SIEty /J/’J,l»’ 200 )

Define electric field. Write its SI unit?

What is meant by electrostatic induction? fe ol Ve Jﬂul _Aef 3ra (i)
A current of 3 mA is flowing through a wire for one minute. g s s b =i/ 3 mAJ._/J.:_, A AL (i)
What is the charge fiowing through the wire. _r_Luwap
Differentiate between direct current and alternating current? -..{QL J/’w A bﬁf |,,|,_,,/__,J- Ay A{iv)
How Jewellers can tell if a diamond is a realor a fake one? Ut J"/L \JL‘s’ L,{L.!" d"n J"lg. 2 ru/r (v)
What is meant by Solenoid? S Apfe KUy (Vi)
What is a transformer? On what principle it works? Yot ,*t-, Jﬂl u//) PPy “r:, rv/;WU (vii)
State the Fleming's left hand Rule? ANl 77" LKL (i)

Answer briefly any Five parts from the followings-' 5x2=10 ..J/gf._al.b’/"é: v ég Jfag}fJ:b» -4
Define electronics? f...vfl, ¥, :/Cf (i) Define thermionic emission. J"”..x»/’JJ»'ﬁI _fff (i)
Draw the symbol of NOR gate. - L S Lol (i)
Write two main services used on the internet. o0 _....«:L,)}u Ghix J‘WH;;L 2l F (i)
What is meant by Primary memory. w2l e L;Jf’u/ s (v)
Write any two isotopes of hydrogen. u“”\_,nif P i kL (vi)
What is meant by radicactive elements. s :!/ Ve L/V rf Phs (vil)
Define natural radioactivity. ~u~ 1S 19k JZ (viii)

Part - 11 (" - >

Note: Attempt any two questions. 9x2=18 -J;f;uk-lﬁéwmf”‘:-ljf ik
Expiain refraction of waves with reference to ripple tank experiment (A% e. .»Lo- (;f’/’;wh.»;,; u_,fw Wi , 0)-5
A ray of light enters from air into glass. The angle of incidence is (45 51 - us u Fiy i ffu‘,,tf.;. I37 ¢ _qfu Ly (....)
30°. if the refractive index of glass is 1.52, then find the angle of ¥ 1520 Ap KJK, e 30%y Ao
refraction 'f. T /r}’”u SIS £

What is a fuse? Write three safety measure that should be taken (A4 L by ui’(n--h_f b 7 J’r" * s - Y »2 $)¥

while using the fuses in househoid electrical circuit. -é',-!»u {7

The force of repulsion between two Identical positive charges is 08N, (A5 Zipw2e-08 N9 u‘ Syl 2o i & Ly (22

When the charges are 0.1 m apart. Find the value of each charge. 2 r:l"ﬂﬂd Liks Yus .,.i.)/ £l 01

What is cathode ray osciiloscope? Explain its different parts. (A4 - ;/’yié,-c/u;‘"..i‘-‘é..u_‘ dl’.é‘.;,'("yj;’!f;f m" A-7

Ashes from a campfire deep in a cave show carbon-14 (45 afir:“-/' J 14-1/€ Ut (Ashes) £l o f ()
activity of only one eighth the activity of fresh wood. Ho 5%, ey, i) g
ctivity of only one eighth t ctivity of fresh w W -f/w’-"ffdé'xq-'éofé-&'-s'-u?(»}r

long ago was that campfire made.
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filt that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

wili result in zero mark in that question,
sides of the Answer Sheet and fil

Use of ink remover or white correcting fluid is not allowed

Write PAPER CODE, which is printed on this question paper, on the
bubbles accordingly, otherwise the student

both

will be responsible for the situation

{D) (C) (B) (A) QUESTIONS Q-1
,"...'.“ S Y -,l.! / y '_é u - ir._: E}:’{J‘?’ g,"r 1
Monitar Memory Control Unit CPU The brain of any computer is
bR £ B i 55 FESE e Sy Soof | 2
Calculating Gathering Arranging Manipulating (Which of the following is not processing
AL A i §in et NN o« b ¥ Ln AL skt LA T 3
Atomic Mass number [-/Number of Number of |isotopes are the atoms of same element with
number neufrons electrons | different
aF 2F (7 % LR e G P imuicadt i e 4
PRY Inmass spring system,  _< Josred §
g when mass m reaches at mean position, the
¢ Egnitude of restoring force become.
22 ot Hidar fedont | ST e ey dTAwm?l s
Wavelength of | Intensity of Speed of Frequency.of [ywm? is the S! unit of
sound sound sound sound
Fei® it il F=R -5 FPlondienl fir/ STALw 27| 6
) 4 3 2 The correct relation between the focal length
and radius of curvature is
- L& o I3 - (= K ) . S
e LK oL 7%, ¢ ndWBeL St S Furin it Fp| 7
: : in refraction, which of the quantity change
l t i A
Amplitude Colour of ligh Frequency Waveiength with the change in the speed of iight.
Voit Ly Ohm %) | Ampere 4% | Farad 2 1uctis equal to -l JCc| 8
£ e < P e Sy b L el 4 2B Pesol | o
Copper Aluminium Tungsten Silver Which metal is used as the filament of an
electric bulb?
WAL 5§10 /855 w100 10
i il o e ARG
1000 m A 100 m A 10mA 1mA . :
H " i If a battery of 10 volt is connected across a
resistance of 10 ohm. The current flowing
through that resistance is
,}yf o s ol gl {2V ;,2:4?5:;,'::? €41 11
Momentum Charge Energy mass Lenz's Law is in accordance to the law of
conservation of
a0, 7 -
— 3 & msle G 0o (OR)LT] 12
x= AB X=A+B X = AB x=A+B : 50 (OR)
The boolean expression for OR gate is

1083-1020- 45000 (4)
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Answer briefly any Five parts from the followings:- 5x2—10 _J///..,LL?;"Z 171 g;Lc..Jf:. ,CJ: o -2

If the length of a simple pendulum is doubled, what will be the

change in its time period?
Define the Restaring force?
Define wave equation and write down its formula.

Flash of fightning is seen 1.5 second earlier than the thunder. How far away
is the cloud in which the flash has occurred? (speed of sound = 332 ms™)

What is meant by acoustics?
In which sound moves faster in a solid or a liquid? Why?

What is difference between nearsightedness and farsightedness.

What is meant by critical angle?

Lin (L.{..ul Je b5/ LJJ(»«W/( (i)

':’Lﬂ.fd'y
ez Ly AU (i)
02 Yy 68 sl J S o P ol Jy, (iii)
ubly® Jc,h.*.@.;fﬁ‘l 5S8c sl ~{,);;,,:.u: iR dkl {iv)
w3 ms’ dhvg A Bt s Gunlindg o .
e Ve BF O W)
syl S FEELSITA G i)

_.r_w*u‘_ﬁd/bw,,rg/&g/ (vii)
"r_:,'tf‘:._, -fJ/"/r (viil)

Answer briefly any Five parts from the followings:- 5x2=10 _qf;juw/"i 17 égc_ ch_ Vs Qi s -3

How conductors and insulators be identified with the help of electroscope.
What is the difference between variable-and fixed type capacitor.
If 0.5 C charge passes through a wire in“10 S, then what will be

the value of current fiowing through the wire.
Define resistance and its units.

State Fleming's Left-hand Rule. - &= wk K4 U
Write the names of factors affecting induced e.m.f.
What is the difference between a generator and a motor.

Answer briefly any Five parts from the foliowings:- 5x2=10 -;_{)}fuu?/""élﬂ
Write down the symbolic diagram and truth table of NAND gate.
_u:”grr[_ s P50 (i)

Name three essential parts of any communication system.

Name two Digital quantities.

Give difference between ROM and RAM.
Wirite two properties of Alpha-particles.
Define Nuclear Fusion reaction.
Define ionization and penetrating power of radiations.
Part 1I
Note: Attempt any two questions.

Define simple Harmonic motion. Prove that motion of
mass attached to a spring is S.H.M.

The power of Convex Lens is 5D. At what distance the cbject should be
placed from the Lens, so that its real and 2 times larger image is formed.
State Joule's Law and derive its equation.

A Capagitor holds 0.03 coulombs of charge when fully
charged by 6 voit battery. How much voitage would be
required for it to hold 2 coulombs of charge?

Describe in detait deflection of electrons by electric field and magnetic field.

Cobalt-60 i a radioactive eiement with half-life of 5.25 years.
What fraction of the original sample will be left after 26 years?

FLE L (i)

e bl s K Pl s S P i)
ek Q/JVJ:£ 532 B S (i)
Bt Je 0 210 STk 05 CuUtaLA i)
- l}}c...f/(
_31:_21/17 Sy £ Sat’
Prove that 1kWh=36MJ S /=t (V)
S F L L it 3 IS (i)
—e L3P $E a2 (Vi)
i.L ‘:‘Jsr:'.-u:JSLn -4
A5 P S o NAND (i)
What is cathode Ray Oscilascope?%y; & & .,T_,ﬁ,blg,,,:{ (ii)
L L EL T AL (i)
o135 RAM AIROM (V)
et A i)
.I"JJ/“‘UJI IS il A (vil)
~d"vgj'1/“p “'U/u._JIJsL S Fabf T (viii)

(iv)

e -

9x2=18 -q}}/uwﬁ clynedf  -&f

o Flbie Lpfyl et J/w,)‘d/dv’uhtu .5
- {,""’..-&:"JL Je qu(

s g S cff’__so;,.ufﬁu B )
dﬁbﬂ:(’;lpxb J&JPJ{/;'JJJJ:_E

D) u“pr—u/bur 1S5 KUz O)-8

(A5) L-(LJL?/ /:J’J’LYJ:L.U'/J V.= }r/"J..ArF (u)

2Cz }‘f:.. bl s (4 0.03 Cﬂj!n._b
FLYJKJ; 5}3 d.c’_i_.a’_./zr"_,/!w
(A& ‘,fuh:__-?wg,"yh (xs,-":..w.ﬂ.w.lf".lwml,su //CI 0.7
(4 Ju26 e Jr 52500 60 ASE L (L)
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